(i ]
BFEKISSER RN 1 BRREAETSE
&

SM7E5A
REES
EHHT L TKERBTKE

=
=1

1:10000 (A1)
1:20000 (A3)

%

1
ERFER B
EEXE A

&

5=1:10000

(]
[

*‘

e ) Bpeat]

=

)

<A\ \

& .
.\\A%..




m X (1)

$=1:2000
%/ /
57 o E

12019

9

— — — —

& [

D DH

H

RN n\
2 Eooe o

fﬁﬁ@D@DQQJQ
=

e — =

0 O Ol

D]Ejr'l ) D D:L_EIQ —_—‘__\Dl‘ [
—-\ e [:j| | 3
o oo I
Eoanso) [ oeop B g no| @ooon0 [ Ao
E— N E] N
|

[l E][ZL[:jEIIZ][Eﬂ

O S L) ‘ 7 ) o+—oO SHERR (B EETH)
| bGDDElD oL A S | DQE@Q@——* L;
l —— I T ) e e T [ R =
o 1 (D OE &+ R
G0 000 ) U A -
/ - - = — ] JD D
eI L QJDLLE” DUDJDUD‘L‘DB e =
/E%ﬁﬂi%m OO0 (T O S -
(= o FjED a0 D\ T F & BRSHKISSRIN | BEEETH
| E}CHDD A L] Q:SDDB\ED “ _ \
@Q_@;‘@Qij = & £ BB T E R
@;@%@:@:%@ ;~/ Es R B M7 E5 A
00 G0 T e " 1:2000A) | gmrms
{[;;Ejﬂ[j W UDI]E:J — - fe & 1:4000 (A3) HEES 2
o - %% 4 BB L TCEE T KR RS




] (2)

S=1:2000

y

S=1:600 "\“L

e
ol
22,

Y

Rl

FTERSR (BEEETE)

BREX BEHR

{ 41

BRSHKIGSHEN 1 BREATS

m 4 B 8% T m (2)
ERFERH SM7E5H
1:4000 (A3)

FXE4L

FHHFM ETKES TKERR




